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1103 = 27,0004 * 43| 11,880
OHYNELLS B2 49 M
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201 Let249] 6,300 28,800 A 22,500
02 =224l 6,300 4,800 1,500
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100,000& * 203l 2,000
O=dg HdEH3d 23R= 100,000& » 12& 1,200
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01 A& HI 128,000 114,000 14,000
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O2LEXl MHSY SX2e 20,000,000& 20,000
OREX MEHZ2d |X2cl 22,000,000& 22,000
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< 19,500
i 80,000
12 JIEtEA S 99,500 130,000 230,500
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01 AP 2t 2] H| 18,350 15,550 2,800
OEIEZE SHHH A
150,000& = 5CH 750
O A OF2HEs L STHAQHAAILD =S4
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02 2324 14,000 2,100 11,900
OstE2dg EHHH |XHl 100,000& = 5CH 500

_13_




2M: 83
M oy 22
ol o8 2H (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Offiget= HIC2E4A Xl 500,000& 500
ORHIY NEEHZY S4R3
50,000& = 1CH = 12& 600
OHIIYSH XIIEH 22 SJ| MX L ¢
24 2,500 = 1,000 » 23| 5,000
otrieg=d MIEdE 32 S| €82
3,700& = 1,000 * 23 7,400
202 oddl 15,000 15,000 0
01 = LH o4 1l 15,000 15,000 0
OdXNE HRF& ¢l 15,000, 000& 15,000
206 M= Hl 8,960 7,540 1,420
01 =8l 8,960 7,540 1,420
OANZEA THHEYE P2 2,300
-PES I (4L, HI =) 110,000& » A 660
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OO0IMSX SZHUCH BHE olg ZAl 24|
160,000, 000& 160,000
= 80,000
s 80,000
=SAs=EII| £X - 2 2cldl NEAMY 49,750 54,075 A4,325
= 35,280
< 4,341
s 10,129
307 gl2tol & 49,750 54,075 24,325
= 35,280
= 4,341
s 10,129
02 IZHEHAHE L 49,750 54,075 A4,325
O==Xs=FIII| &X - 2822l XA
49,750,000 49,750
= 35,280
< 4,341
s 10,129
=B ANs=EI|I|l €% - 2 2cldl NI AN 139,437 48,000 91,437
= 92,958
< 13,944
s 32,535
307 gl2tol & 139,437 48,000 91,437
= 92,958
< 13,944
i 32,535
02 IZtE M AIHE L 139,437 48,000 91,437
Ox&XNSEHII &X - 2922l XA
139,437,000& 139,437
= 92,958
< 13,944
s 32,535
FE =227 6,075,880 1,122,656 4,953,224
= 481,000
| 104,200

n s

144,300




2N
X ZH -
L= B

el

R
3m sz
2 el Y 4E BH

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 5,346,380
= 2 ¥ =2 BN 6,075,880 1,122,656 4,953,224
= 481,000
J| 104,200
< 144,300
s 5,346,380
= H 2t 9,680 5,682 3,998
201 £B-2dH| 2,000 1,650 350
01 At 22l 2,000 1,650 350
O=Hzel g8 50,000& = 2004 = 23] 2,000
202 044l 7,680 4,032 3,648
01 = LH o4 1l 7,680 4,032 3,648
O=H2Zel dL2F& ol 7,680,000 7,680
HEI N2 AL 5,962,000 1,011,000 4,951,000
= 481,000
< 144,300
[ia 5,336,700
401 AIEHI L 20 5,962,000 1,000,000 4,962,000
= 481,000
< 144,300
= 5,336,700
01 A& Bl 5,962,000 1,000,000 4,962,000
OHE2E ML ALY 962,000, 000& 962,000
= 481,000
< 144,300
e 336,700
OHIZE2E M2 At B&HI (22U FIHE)
5,000,000, 000& 5,000,000
eEszA2(SL=H) 104,200 105,974 NT1,774
J| 104,200
207 A O] 104,200 105,974 A1, 774
J| 104,200
01 284 104,200 105,974 NT1,774
O3+ YB3V 08I S
49,200,000 49,200
J| 49,200
O3Z= A2 AE 2LHE 249
55,000,000& 55,000
J| 55,000
HY2FZH (F ) 30,924 37,456 A6,532
Jl2Zd(8& ) 30,924 37,456 26,532
Jl=dl 30,924 37,456 26,532
201 Let24d] 24,324 26,526 A2,202
01 At 22/l 22,570 25,175 A 2,605
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